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Answer Question 01, which is compulsory and additiona! five (05)
Questions. _ - .
Question 1 carries twenty-five marks and Questions 2 to 9 carry fifteen
{15) marks each.

Question 01

(i) A Yarn consists of two fibres A and B. The fibres were separated and the |
number of fibres of each type was counted through a microscope and the ’
resuits are as follows 1

Fibre A=30 fibres. c
Fibre B=40 fibres _ |
F

What is the percentage ﬁbre blend in this yarn? _ i
(i) Simplify the following expressions
(@) (2x+1)°— (2x% + x ) (b) (x-y)*

(ifi) Simplify the foliowing

64 i o “ ]GEI
@) [b—s] (b) [5]

(iv) In a garment factory, 240 garments are to be distributed among three
: sewing rooms A, B and C. Ratio of the number of garments received by A
and B is 3:2 and the number of garments received by B and C is 4:5 N
Calculate the number of garments each sewing room gets.

(V) A car travels 100m to the north and then turns and travels 100m to east, '
Determine the resultant displacement of the car.

(vi) A car travelling at 60ms™ is decelerating at 5 ms? . How long will take for
the car to come to rest?. '

(vii) Write the Newton's laws of motion.




(viii) An object is accelerating at 4ms™. If the net foree is doubled and the mass
is' halved, what is the new acceleration?

(ix) A person lifts a bag of rice 10 kg to a vertical height of 2m in 4 seconds.
(@ =10 ms? : o
(2) Determine the work done by the person.
(b} What is the rate of work of the person? -

(x) Determine1the kinetic energy of a car of mass 1000kg moving with a velocity
of 30 ms”

(xi) Determine the gradient of the straight line going through points A (2,4) and
B(5,8)

(xil) Mass number and atomic number of the element * K*is 39 and 19
respectively.

Determine the number of electrons, protons and neutrons in the element
nKﬂ . K

(02) (a) Define the following terms
(i) Moisture content percentage

(i) Moisture regain percentage of a cotton fibre sample. (05 Marks)
(b) Explain the importance of moisture in textile industry. lllustrate your
answer with suitable examples. (10 Marks)
(03) (a) What are the base units of the 8.1 Unit system? (03 Marks)
(b) Write the S.1 units of the following physical quantities
() Force (i) Thermal Energy (iii} Power
(iv) Pressure (v Electric current (vi) Electric Resistance
(03 Marks)
(c) Convert following units into S.I units
() 1000cm® i) 24 hrs (iii) 10 gem™
(iv) 72 km/h (V) 8gem™  (vi) 25m| (09 Marks)

(04) (a) Write an expression for ‘volume’ and ‘surface ares’ of a cylinder of
diameter 'd’ and length ‘I (03 Marks)

(b) A fibre has a diameter of 30pum. Calculate the ‘volume’ and ‘surface
area’ of the fibre of 2cm long. (04 Marks)

(c) Mass of a fabric sample of size, 15em x 15cm is 7.5 (g) | _

Calculate the surface density of the fabric. _ (04 Marks)

(d) The mass of a solid wooden block of sides 10cm, 8cm and 6cm, is
500g. Calculate the density of wood. (04 Marks)
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(05) (a) Discuss unit systems to express the fineness of fibresfyarn
(07 Marks)

(b) A yarn of 50 Tex is wound onto an empty package continuously for 20

minutes. At the end of thig time, the mass of yamn package is found to be
48g. :

(i) Calculate the length of yarn in the package.

(i) Determine the speed of the yarn in ms™.

(The mass of 1000 metres of a yarn in grams is defined as the Tex count
of the yarn.) (08 Marks)

(08) (a) Solve the foilowing equations
(i) Ix+6 - 2x-5 =6 (i) 2x+3y =13

8 4 x-5y = -
(08 Marks)

{b) Susil got a holiday job at Rs. X per day. On the 5" day, his pay
was increased by Rs. 10 per day. He then worked for 5 more days on
the new salary. If the total money he earned is Rs. 680, calculate X.
o (07 Marks)

(07) Briefly discuss the following.
() Conductors and insulators.
(ii) Electro-static charging in textile
(iti) Importance of maintaining the humidity conditions in textile processing
plants. (15 Marks)

(08) (a) What are the equations of motion for a body moving in a straight line
with uniform acceleration. (03 Marks)

(b) A Spinning mill carriage accelerate at 0.5mg™ from rest and get to
maximum speed at a distance of tm. It continues at this speed for 0.5 s
and Uniformly decelerated to restin 2 (s),

calculate (i) the maximum speed
(i) the deceleration

and
(iit) the total distance it travels, (12 Marks)
(09) (a) Describe following terms
(i) Percentage Concentration (i) Molar Concentration (02 Marks)

of a solution

(b} What is the concentration of a sugar solution when 20 grams of sugar is
dissolved in 450 gram of water? (03 Marks)

(& Calculate the molecular weight of HaS0O,.
(H=1, S=32, 0=16) (05 Marks)

(d} If 245 grams of Ha280, is in 3 litres of H2S04 solution. Determine the
molar concentration of the solution. (05 Marks) 3
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